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Problem Set 7

Due Date: 1/4 (Thu)

Points to note:

1. Please hand in problem set 6 if you have not done so, or I will request you to stay during recess or lunch to do the homework. Be a responsible man.

2. Notes and problem set 6 answers could be downloaded from my homepage.

MC questions 

1. In schools different teachers are responsible for teaching different subjects. This is an example of

A. division of labour

B. inadequate knowledge of the teachers for teaching

C. inadequate resources for education

D. specialization of schools in education

2. The following explains why division of labour leads to greater labour productivity EXCEPT that

A. workers can specialize in the tasks they have greatest ability

B. workers are more skillful upon repetition of work

C. it promotes the relationship between employers and employees

D. it stimulates the use of machines

3. Which of the following are advantages of division of labour?

(1) larger output




(2) less time in training workers


(3) employment of specialists possible
(4) a wider choice of goods and services

A. (1) & (2) only
B. (3) & (4) only
C. (1), (2) & (3) only
D. (1), (2), (3) & (4)

4. Which of the following personnel in schools have the highest occupational mobility?

A. headmasters
B. laboratory technicians 
C. office clerks
D. teachers

5. The process of accumulating capital is decribed as

A. consumption
B. extraction

C. investment

D. production

6. Teachers are paid in time-rates because

(1) it is difficult to assess the results of a teacher’s effort.

(2) Teaching is a respectable occupation

(3) It requires less supervision

A. (1) only
B. (1) & (2) only
C. (1) & (3) only
D. (2) & (3) only

7. In a limited company, production decisions are made by salaried managers, who can still get paid even though the company incurs losses. This shows that

(1) the functions of an entrepreneur are separated in a limited company

(2) production in a limited company is inefficient

(3) salaried managers have no incentive to make profits for the company

A. (1) only
B. (1) & (2) only
C. (1) & (3) only
D. (2) & (3) only

8. Which of the following can ease the problem of labour shortage in an economy?

(1) allowing foreign workers to work in an economy

(2) relocating the production process to some other low-wage countries

(3) raising the wage rate of labour

(4) substitution of cpital for labour

A. (1) & (2) only
B. (3) & (4) only
C. (1), (2) & (4) only
D. (1), (2), (3) & (4)

Short Questions

9.
a) In Johnny Hair Salon, Tony is responsible for washing hair and cleaning the floor, etc. May is responsible for hair dye. Johnny and Kim are responsible for haircutting. In Economics, what to we call this kind of production? State the definition of this kind of production and list its TWO advantages with the example of Johnny Hair Salon.

b) Will the training of labour increase or decrease the occupational mobility of them?

10. a) Define ‘labour supply’ and ‘labour productivity’.

b) A new university has been set up and there are more places for Form 7 graduates. How does this affect i) the present labour supply? ii) future labour productivity?

11. (optional)

a) Define land

b) John: ‘An elephant from a wild forest performing in a circus is considered as land.’

Ann: ‘No, the elephant should be considered as capital.’

Who is correct, John or Ann? Why?

c) Is a car park a kind of ‘land’ in economics? Why?

12.(optional) 

What type of division of labour can be found inside a McDonald’s restaurant? Explain.

Answer key to problem set 7

1.
A
2. 
C
3. 
C
4. 
C
5. 
C
6. 
A
7.
A
8.
D

9. a)The kind of production used in Johnny Hair Salon is division of labour. It means the labour is specializing in doing one job or part of a job.

Advantages: (any 2)

As each worker specializes in doing a job, through repeating the same job, skills of the workers will be improved and therefore the productivity. For example, the effectiveness and efficiency of hair washed, hair cut and hair dyed will be better.

It can save producing resources. For example, only one set of tool for hair cleaning, hair cutting and hair dyeing is required respectively. If there is no division of labour, 3 sets of tools for each process will be required.

It can save production time. For example, May only concentrates on hair dyeing so she does not need to change tools for her job. Time for changing tools and getting familiar with various procedures in production can be saved.

The best person can be chosen to do the job. For example, Kim is good at hair-cutting and May is good at hair dyeing. They are assigned the jobs they are good at.

b) After undergoing training, labour learned more differnet kinds of skill. This help them to find new jobs. Thus, their occupational mobility increases with training.

Or

After undergoing training, labour are more specialized in one kind of skill. They may not get the same income in other professions, they tend not to change jobs. Thus, their occupational mobility decreases with training.

10. a) Labour supply means the total working hours of the workers involved in production.

 Labour productivity means the output per worker per unit of time.

b) i. The present labour supply will decrease as more potential workers continue their studies, dropping out from the labour force.

ii. Better education will improve the quality of labour and future labour productivity will increase.

11. a) Land referes to all natural resources that are used for producing goods or services.

b) Ann is correct, because human efforts and other resources have been used to transport the elephant from the wild forest and train it to perform in a circus. The elephant has become a kind of man-mad resources, i.e. capital.

c) No. Lan refers to natural resources used in the production process. A car park is a man-made resource. It should be classified as capital.

12. Complex division of labour can be found.

Different workers specialize in different types of jobs in the restaurant. There are cooks, crew members, cleaners and a manager.

Comments:

Try to relate the situation with the concepts, stating the definition is not enough. 

Land also assists production, but not man-made. Note this difference.  
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